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Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / HHISS (HGSWIGT) BT 3 &

1. It describes a disorder or condition that may co-occur with another disorder or condition. / I& Teh IR a1 AT ar
aoid aXar & S Rl 3 e a1 Rufa & @y & @& §

2. A condition can appear independently and have a detrimental effect on performance. / a5 RUfT Taa7 &0 d yae
o Fopa & 3Ny W B Re UG ST Hehal &l

3. A cognitive impairment can shorten lifespan. / T=TITcd &lfel SHdeAdIel Bl BICT BT Thdl &l
4. None of these. / A3 & P ARl

Correct Answer :-

o It describes a disorder or condition that may co-occur with another disorder or condition. / & T TawR a1 AT ar
auie &R & St Rl 3w R a1 Rufa & @y & dwar &

2) What is the second leading cause of death in adolescence? / fpamRawT A G DT IR YW HRUT HT %?
1. Road traffic accidents / Hsh ITATATT gEiE?ﬂ?T
2. Suicide / JTcHGAT

3. Psychosis / HATAHIA
4. Drug overdose / 39T 3N

Correct Answer :-
e Suicide / HIcHEI

3) UDL stands for . / g3ua &1 fawga =u 2
1. Universal Developed Learning / gAadd Sact Al

2. Universal Dynamic Learning / Zfa¥el SIIAAG dfetor
3. Universal Design for Learning / Jfeladtel s B dfetar
4. Universal Disadvantages of Learning / Jfaiadicl fe¥usaicst 3w afeior

Correct Answer :-

« Universal Design for Learning / Jfaa@ier f3aga ®R afeior



4) The meaning of gestaltis ./ TeeTee 31 3 - ﬁ?l'l %I
1. Excitement / 3¢l

2. An integrated whole / F{U‘f ThTehoT

3. Perception / 9RO

4. Insight / 37 f¥

Correct Answer :-

« Insight / 3/de®

5) According to Piaget’s theory of cognitive development, complex thoughts form during the ALLIEk g
AT faprare Rigia & ouR, wfed faar P IR a2

1. Pre-operational stage/CEff-leawlrd-lm STIEAT
2. Concrete Operational stage /Héﬂ’iaﬁalcﬂiﬁ IEAT
3. Formal Operations stage/31|qa Ih TTHAT 3TaE2AT

4. Sensory Motor stage / HJGT AT AIOT

Correct Answer :-

e Formal Operations stage/ﬁlqa Y TfehT 37aEAT

6) According to Kohlberg’s theory, at what level does the child adopt rules? / e & ﬁ?{}ﬂ\'-l' & AR, TedT
e TR W At # weRar

1. Universal ethical principle orientation / agAifAe afas Rega 3«-@_@“3’31‘”
2. Post-conventional level / T%¥-URFIRE T
3. Pre-conventional level / Q@-URFIR® T

4. Conventional level / URFIREH FX

Correct Answer :-

« Conventional level / URFIRP EX

7) According to Urie Bronfenbrenner system is the small immediate environment the child lives in. / 1131
siharaet & 3ER, YUITe 9§ BT ¥l arara}or § forwsd a=ar @ar gl

1. Macrosystem / Hepifeea
2. Exosystem / TFAITAECH

3. Microsystem / FTShITATCH
4. Mesosystem / TRAI AT

Correct Answer :-



« Microsystem / ATShITAECH

8) What is used to determine eating disorders? / @ & Rt # FuRaT S F Qv F72r g9er Far sar g2
1. Weight index / HR Hhidh

2. Weight mass index / HR GcIATA ﬁﬂ?-h‘l?-ﬁ

3. Body mass index / RN FGeIHATA HADIh

4. Body height index / ¥R 5aT$ Fahich

Correct Answer :-

« Body mass index / SRR GcIATA FAhih

9) What term best describes a child’s difficulty in learning a new way to do a task he has already learnt? / g 9g S
TF d0 ) TF 97 adFT A F e arelt FISAE FT Fa@ 38T quiT FIam &, s 39 Tgo & & dar
g3 B2

1. Proactive interference / IfehdT %Fffﬂ'q

2. Retroactive interference / q@cla?thﬁ %Q—T-ra%cr

3. Cue-related interference / Thd-TaTAd TEI&T
4, Semantic interference / TeaTd %’{—_CT&BIU
Correct Answer :-

o Proactive interference / IihdT ?»'{—_cffﬁ'q

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? / farsr & goal &
3d% Hledfah- AIHATHS dh F TASS & AT F41 FF =902

1. Pendulum experiment / ﬂ}?’l?l' P gIIT
2. Bobo doll experiment / arar UI%TIT T TAT
3. Visual cliff experiment / €T T T

4. Shadow experiment / SIIT YT

Correct Answer :-

« Pendulum experiment / ﬁ§?~|?f Calen o)

11) What does the theory of learning by Insight mean? / 3id€fee (31aT8e) & AN ¥ Ao F RAguia #
I F4T B2

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / 3TQ9H & forw
R, a% 3R gigaar SR 3=a e Afls ufshanait & sragsar ad &




2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are continued until
success. / U 3R T gRT FAIMH AT STal FAEAT Bl AfFe UIME gRT IR-IR & AL Teh [aQAwar
¥, Shfp awherar do ST Tedt &

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. / 3191 it

T fIAus gRT QU a7 Hedl @ @ 3R 3% TR Pl Hr Thd A & AT &

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of various parts of
a problem and understanding the situation. / Tdh UhR & HIAITH JT FHAEAT Pl T HIAT il fohdl THAEAT &
faffea el & goul & e 3R 39 BUfa & gasa & JAegdw @ 3@ o Bl

Correct Answer :-

* A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of various parts of
a problem and understanding the situation. / T YhR & YA AT FHALIAT DI T IAT oIl hdl THALAT &
faffea oot & gaut o gersa 3R 39 U o g & J1egd a 3Ea o dr ¢

12) Name the disorder that causes lack of attention. / 3 fA®R &I ATH T A €I A FH HT FROT T44dT 82
1. Dyslexia / aTehidedR (fSEerfarasn)

2. Dyscalculia / fSEhepTorT

3. Dysgraphia / fS@anfsar

4. ADD/ADHD / &8I /TEIu=sdy

Correct Answer :-

« ADD/ADHD / T3S /uSiugsy

13) Which model, proposed by Albert Bandura, explains human functioning and personality as caused by the
interaction of the behavioral, cognitive and environmental factors / eace agm aant yEaIad Fid T ASA
aER, FAECAF 3R 9ATa0NT FRFT & WER BFAT & WMUR W AT &1 3R afFdea A sarear war
&

1. Self-efficacy / 3McH-THTIRIRA
2. Reciprocal determinism / UR¥UIRG fHafdarg
3. Trait theory / <afthca fAgid

4. Sublimation / ZH%dUTdh

Correct Answer :-

« Reciprocal determinism / UREUR® @afadare

14) Which of the following promotes the recurrence of a behavior? / fAFfaf@a & @ i &1 vF s¥agrR
qgRy # qoraT &ar §7?

1. Reinforcement / l}‘ﬁiﬂ?—r
2. Latency / ggdar



3. Chunking / Tfehar

4. Punishment / &3

Correct Answer :-

e Reinforcement / lg?-l'si?—l?-l'

15) Which of the following theories focuses on processes involved in perceiving and handling information? /

ffaf@a & @ si9 a1 Rgua gaar A wnee 3R 399 3T aoa w9 A afae it w© $ia
1. Information-processing approach / W-m SUNTH

2. Social-contextual approach / ATHISIh-UIATIh SUTITH

3. Socio-cognitive approach / HIHAIGIH HATATCHD SUTITH

4. Psycho-sexual approach / HAATI P SUTITH

Correct Answer :-
» Information-processing approach / H@IHT-CIWUT SUNITH

16) Which of the following is one of the components of ideal mental health according to Jahoda? / Rafaf@a gk
FleT SARIET F HTAR G AARAF FERLT & ghl & § TF 2

1. Dependence / IGEEGI
2. Separation from society / THTST & 37eTdT Bl
3. Freedom / ¥@adT

4. Positive attitude towards oneself / TIT & Ufad TPRIcHD TIBPIOT

Correct Answer :-

« Positive attitude towards oneself / TTF & Ufd hRIcHD RO

17) Which of the following statements best describes the Zone of Proximal Development? / ffafaa & @ siq @
Fud THAET e F a7 F1 9@ I3ToT quid FIAT 82

1. The difference between what a learner can do without help and what she or he can achieve with guidance. / T ﬁT&‘ﬂ?fﬁaTﬂ

eIl & T PR hdl/Thal & 3R AN & Y-y 98 1 B1d B Fhal/Idhdl 8, 3T §1F BT 3|

2. Academic, Knowledge based tests gauge the intelligence. / 3ThIG [, AT 3TATRA TJ8T0T & gizﬂﬂl DI TdTl deldl
gl

3. The child develops the required skills on his/her own. / IdT 370 &3 UX HTATH HIA AR AT &
4. Discover everything on own. / 9 $S I & @ o]

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with guidance. / T

Rremeiffe Terad & 1 R Gohdl/THd & 3R AN & ITY-T1Y I8 T BT B Thal/Ihdl g, 59 o1F DI



18) Which of the Thorndike’s laws emphasize preparedness? / qeisEE F Hia-a1 Aga dofiat w SR &ar &2
1. Law of Exercise / 37818 & fag#

2. Law of Effect / UHTa &l faga

3. Law of Multiple Response / ag gfaferar &1 Saer

4. Law of Readiness / dcqidl &l f@a#

Correct Answer :-

o Law of Readiness / dcuRdl &l fag#

19) In scientific investigative learning method, ./ d=1fa® m rfererr geufa -
1. children discover the scientific idea completely. / & B aAS faR I\FT e I g1 9ad %'I

2. children work without guidance. / ¥ ARG & o1 B FA &

3. teacher guides the children completely. / fT&Te a<at @r o ATTEAA HAT Tl

4. teacher gives inputs when needed. / fI&T&h ST Usa WX 3AYC ST B

Correct Answer :-
« teacher gives inputs when needed. / fT&Teh T U W gdqc &ar &l

20) A child is watched carefully by his teachers because his friends are known to cause trouble, even though the child
has never done anything wrong. Which of the following is descriptive of this? / T& ¥Td &I 3d& fRravent aanT

I F AW AT § FAF 3HS QAl F AT FT FROT FMA1 AT 8, 7 & Ted F F3ft F& e 78
frar g Pefaf@a & @ Fia a1 suFr aviacas 22

1. Algorithm / TeanRYA

2. Transductive reasoning / UIITHT RED

3. Representativeness heuristic / TS %’ﬁﬁm (Wﬁﬂm )
4. Anchoring heuristic / GHcddd %’ﬁﬁm (wgmﬁzﬁr )

Correct Answer :-

« Representativeness heuristic / 379-gTdea %?gﬁm (H‘Iﬂ?-‘lﬁ'cﬁr )
21) Who are backward children? / &3/ afRa ssa ®la§?

1. Slow learners / #c, 37fAITHARAT

2. Delinquent learners / faroreToT 31fA9THBAT

3. Handicapped learners / fgeaman 3ifrHASAr



4. Exceptional learners / 3TATYRUT TAaTHBAT

Correct Answer :-

+ Slow learners / g 3TTITHBAT

22) The last stage of creative thinking is : / TaeIlcA® RIdsT FT1 AT W01 §:
1. Incubation / SCHATI

2. Verification / HcdUe

3. Preparation / SRIE

4. Evaluation / FHgdTchel

Correct Answer :-

e Verification / G4

23) The Dalton Plan was created by: / STeeel AlSI=ll GaRT qa1g a5 AY:
1. John Dewey / i<l &8

2. Francis Galton / BIf&& e

3. Francis Dalton / BIf&& 3Teca

4, Helen Parkhurst / %ﬂ?—f W
Correct Answer :-

o Helen Parkhurst / %ﬁ?-f W

24) A student should be allowed to learn in the mother tongue as it makes easy./ Tsh BF I HTHTST )
dEa A sgafa § s T w9t 97 FY AT T 2

1. Comprehension / &Y
2. Perception / Hdeel
3. Creation / T=&T AT ¥

4. Reproduction / Uoldd

Correct Answer :-
« Comprehension / &Y

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of theories

on cognitive development. / 378 STAHRT 3R gAlTTy e § O TaEcAS [AFE W
Rquat & 77 Rgwa §

1. Kolb’s / @led



2. Piaget’s / 0TS
3. Dewey’s / 3
4. Vygotsky’s / aTsdlicEh

Correct Answer :-

 Vygotsky’s / daTgdllcEeh

26) A large number of schools do not have a provision for teacher in the school. / 3Tf&rehier ﬁg_oﬁ"ﬁ'
fRY&Te T yTaeneT A1 8
1. Extra / 31TaR<®

2. Special / fafre
3. Co- class /W-fﬁT«‘ﬁT
4. Assistant / Ogldh

Correct Answer :-

e Special / afre

27) are the basic needs according to Malow’s Hierarchy of needs. / A &

RO & USIHH B TahHAT b ITAR Jard) o g

1. Safety and Esteem / &1 3R 3T

2. Physiological and self-actualization / IRIR@ 3R 3Tca-are

3. Belongingness and love needs / fa#ama 31k <R &1 3magedr

4. Physiological and safety needs / JIRIR® 3R Rl P TARIDHAT

Correct Answer :-

« Physiological and safety needs / R SURCEIR gRé&Tm P AT

28) Which of the following can a teacher not exercise to overcome misconceptions? / T Rrere Tea

STYRUNST B gR B P o 37H & fPadT gagR 81 &% FHar?

1. Immediate feedback assessment approach / dcehTel UTcopaT W HECTS

2. Self-directed learning / 3T TAEAT F Hr@ar

3. Quiz style assessment both before and after a unit / Tch sfﬁlé T Uga 3R a1 # gl Aol o EFJ\F?JITav_rf

4. Flipped classroom approach / TFelq Hefr gi¥aIoT

Correct Answer :-

+ Self-directed learning / 3TTcd A& F dr@ar



29) Which of the following theories is also known as modelling learning theory? / Frafafaa 7 3 feg
Rrgia &t ufeegui(ats i) siftrm Rrgia & wu A of S Smar 82

1. Developmental theory / fa®rITd® (Saausica) IR Rigid

2. Social learning theory / FTTToT 37T g

3. Transformative learning theory / mﬁmﬁamﬁm
4. Insight learning theory / 3/def® (3@Tse) 3fAoTH Agia

Correct Answer :-

e Social learning theory / Wmmm

30) Thinking most importantly involves: / fa=a= & JaQ Wewayel 9k A 1 f@fea gar g 2
1. Aptitude / JTFITIAT

2. Memory / ¥Hfd

3. Reasoning / ash

4. Attitude / TTHRY

Correct Answer :-
+ Reasoning / d&

Topic:- General Sanskrit(L1GS)

1)

arg T oA -

ST I A =3 e |

1.

ST I[E A= |

2.

AN [

TETd dE3 eS|

EI]|

LA

EI

-

e AR resied |

4,

Correct Answer :-

qIS1: IETd AT |



) ELull
du:
2.
ELE]
3.
4 EITFL



2.

qie: |
3.

M |
4,

el + B |
Eﬁl-n-flﬁﬂﬂl
3.

S + STNEUTH |

Correct Answer :-



g:

Correct Answer :-

4.

"HYgahREA’ 3d: % ?
FIAGE: |
1.

3.
.
JFeToT |
4,

Correct Answer :-

8) . -~ 4 .
T"-I?IHEI_'zldfh Yo =]l -
1 gRd: |
2 M9 |
qq: |
3.
, B |

Correct Answer :-



. 300

T 4 |

3.

4, :Eﬁaan

Correct Answer :-

T FSH |

11)

FIET 5fd Ase&T HY: &:?



- Gl
41-'\_:—"|

Correct Answer :-

ZEEI'*’II'*’U
.
EAR N
3.
o
4EE|'*‘3IF3[|

Correct Answer :-

EARIEN
13) [ . [
HaHN A W‘ﬁTﬂT IITIEI?I'\HT 3 ?
. L
~ T



ﬂ O

[ T,

[ERUAREI

3.

4,

Correct Answer :-

. i T

14)

e |
A
| ¥R |

AR |

Correct Answer :-
*
3z |



Correct Answer :-

16)
SIRETNGH FleaNa-Tg, STeaHard ?

TIHAY |

ATy |
3 SRRy |
, TETEEY |

Correct Answer :-

17) L oY
'STATHER SRATFFIH i F HIITH 2
1 =,
o RS 1 Bl
2.
3. H]?E;j
o i
i
4.

Correct Answer :-



| & |
 shred |
, B |
433‘5“

Correct Answer :-

19)

i [ [ ~L i
’c’alzj.f Zid SR HIH HaH 9g34d ?
| ST |

| SR |

3 TS |
L ™.
) JAHTTRIS |

Correct Answer :-

ST |



10

1.
2
2.
16
3.
4, S

Correct Answer :-

Correct Answer :-

3

22) = —~ jut
‘Tl 2T 9 STd T 9 G2
[y o '-\:
1.
AT
2.



S

4,

Correct Answer :-

23) e Y . =, T e
TTOTT IY0T i 7 SARAA TR FiJag, TR, 2

, T

, L

3 q A |
ard |
4,

Correct Answer :-

24)
“THATGIY HSNIUT G FHATGY” TN HEHT AEHId Igd:?
SRR g asdld,

1.

2.

| IR,

qETIERAT



Correct Answer :-

. IAHERATT,

T PP
L WLERRA
zwmﬁ'mwmm“ T i
, R R
4.(%3'5? ‘a

TRl FARERTE |

T Y= |

4.

Correct Answer :-

I 9



4.

Correct Answer :-
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, A
ers:
4,
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™
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* ugq S ERaTIeH,
s

A

ST

4. e

Correct Answer :-

Topic:- General Hindi(L2GH)

1) ‘&' $3 qfel & 91 3T V| Yag a1 N SRGaR W 38T 4T & O Ft avg FR | g, ‘qIsae=’ &1 a3 g3l 3=t
yoraif # SrepgT, df Y YavTy BT Yo § sws Wi & gad $ gre o1 751 98 3t gt Sws At 3iY q eciad
BU YD, “Fel @ W? 3 321 g3 Fae A & 17 3R o 1 &1 qaar 3@ yhs # 31 14T, At ST WIv-9rdt Wg | S9
THE B R-R B STaT| T WP W §H AT 3T Iad $I PR & ¢ ¢d 8, 39 3 TS ¥ed 8 | 'F’ I 71 & 7a frem
T IH T WHCPY T | 1 e g=firet 781 | A Srun qaren &1 S fam ) yaen swferg Swet yensi & wu i &
S ATqH o1 i & yavy | e ve1 § | ot 3a 31 v fim = qaran i 7 Srueit SR S 7 SR T & |1y S59R AW
B G-t 6 g fiaT HdT 3811 9 Fa1 & 91 oI« g8 [a¥ Tat o, ot 77 IR F 3w 7 1 Juary & fear
3R g, $telt 35 @ arel ¥ Bls € UG & 3R Fie g1, @) IV UIGH g1 $ a8 ANTH- B Faw A Rusn gu
T1 B T YARIY SF SAATH Bv, A gaer gt 31 §gH1 AT

ST TR BT UgH? 1 Y T Uy HT IR IaA133:
UH- ‘F’ 3R T Pt ATHIIOTS PIcT T 82



1. gdarH
2. feramue
3. faQmyor

4. TH

Correct Answer :-

2) ‘¥’ B3 Tl & 91¢ 3T A1 Ya§ 19 TR RGaR T 7T 41 {5 T 31 aRE $I A R, 5T 3t avg gt oo
Y3 & SIs], df g9 YavTy St Yelefi A wws N9 & gaa i aig 31 TS| 7% 3t gt oiws A 3ig 1 eciad
BU DT, &gl ¢ WH? 3 o1 g3 Fas A a0 1~ 3R ST i &1 gaar 399 yws d 31 14, | S uir-urdt | 9 39
THS P -IX BT S| T HId TR GH SRR 30 Jad 1 3PpaR A § 34 8, 89 e WS 84 8 1'% & 71 & et firem?
FIT I G THEH? T F T foram? gt =1t 1 89 o= yaan &) 3 a1 gaen safoe saat yonsit & |y fear fa
S ATqE o1 i & yawy | e w81 § | ot 3a ®1 o fim 7 qaran i & o SR o 7 SR T & |1y S5 AW
B G-I G R} fHer BT TeT1 39 YET & 91 9 98 Fa¥ T @, af A IR [ 3= 91 B guany {7t
3R g, $telt Tz IS a1el # BYs < UG & 3R Fie 814, @ IV HIGH i1 $ a8 ANTE! B Faw A Rusn gu
B B BT YRTY 9F SR HY, A YAl g1 SR qg=1 T |

ST TR HI TP 1 I 7T Uy BT IR Id153:
UH- 4@d % ¥ 5 yiaar 9 et faeme

1. HgTddr

2. Aol

3. USAHTGT
4. TIYdH

Correct Answer :-

3) ‘& &3 Al & 915 3T &1 Ya§ 19 v 3RGaR @ 7T 4T fF TWH 31 aRE T | N, AT Bt 9 gt =i
Y3l & Spe], df g YaRTg Bt Yesfi A wws WiH & gaa Bt aig 1 TS| 9% It € s A 3 q elad
BT DT, “Fel @ W? 3 de1 g9 Faw A @ 17 3R o 1 &1 gaan 3@ uhs # & T, dt S ivr-urdt wg I S
SHS B - HY STAT| TN P TR gH R 3T Idl B SipaR # ¢ 34 ¢, g0 a1 &S 84 &1 ‘s’ & 71 & 7 frem?
FIT 3T G FHEH T | 1 forar? gt 1Y | A7 Sru=im gaan & 39 feam| gaen swafire swet yensi # |iv faar f$
S ATeH o1 6 & yavTy & firet ve1 71 sl va &1 v fir 3 aaman 5 ' Sroeit aeRTe Sman 3 SfR T & |rY Se @ W
B G-I G grer} fHer ST TeT| 39 qET & 91 9 98 Wa¥ T @, °f A7 IR [ 3= 941 B guany {7 e
3R g, Hételt 3 SUP! aT8l & Bis & UTTTT & PR P 14, dt I/ TS g1 fF 98 ARG it Faw § RIusTe gu
B1 B BT YRTY 5F SR HY, A gaen g1 SRl qgr=1 T |

ITY TR BT UgH 1 IS T Uy BT IR 9133
- ‘Sl 357 | 1 A 82

1. gaell-ucTell 28

2. fIAR %

3. AP o

4. Pt ¥ 7w



Correct Answer :-

. Bl § W T

4)‘a:'aréﬂﬁﬁ$mmmwmmmaﬁmmﬁ:qmﬁmm#gﬁ,'mﬁm:ﬁ
Hoelr a3t F SRS, At A gausg A Hom A IH3 W F qad A A I AS| TE Y A @ THs A Y
m#aﬂaﬁwm argr%aﬂmarraaa?m# #\l”aﬁrmsﬁﬂmmmm#mwa’r
r@#wmﬁﬁ’g#sﬁmmmmwml@ﬁ%wwmmmﬁmﬁaaﬁ% &H 3T @3
wa g Wﬁwﬁﬁﬁm?wﬁﬁaﬁmﬁﬁmh?gﬁaaﬁlﬁﬁmmé’ra@ﬁmlm
wﬁcmﬁmﬁﬁﬁwﬁmﬁ:nﬁmmﬁ:ﬁm#mmgﬁwﬁmaﬁwﬁq#mﬁv & et
FEU AT § 3R T F W doF aH F Q- g JFe) e FaT W W GAH F G I 98 @O A o, ar
ﬁ#aﬁt#aﬁmaﬁwmﬁmaﬁtmﬁ mnmm#maumaT*mmm a3
mﬁm%wmﬁﬁﬁ?ﬁﬁww%lwmmﬁmw ar gaer € A Sgre AR

39T AGHIY FT TGHT A & AT TRA FT 3} a3
- d@F A fFE FROT § ‘F A JAAT YRISE F H?
1. 91oT-87cdl &g fe@rs & $rRor

2. T Afead dIg el & HROT

3. Tleld, &l AT &l & HROT

4. 7T ST & HROT

Correct Answer :-

o UIUT-HTdT &g 6@« & dRoT

5)'r?§ﬂ%ﬁ$aﬁmm§a€muﬂwmmmmﬁ:“ e A e T A g, WEFeNT H /e q9
ol oenait F SwE, A I gowrse A PoI A TS T F qad A TG I AE)| I Ygawreg A & FH3 A1 ;e
Yarse F TGS g B, “Fgl ¢ A? I qT qH FAR ¥ q " A S« T F A A uH3 F I A, A
SR SIOT-aT Wi @ 39 93 T g T ST |ﬁﬁﬂmmmmﬁm#aaﬁ%ﬁm@
W 8 @ F A e Pem? w7 3@ A wAeE Wﬁmmvaﬁaaﬁlﬁ#mmawﬁmlm
wﬁvmmm#mﬁmﬁ?nﬁmmﬁ?#wﬁmmilﬁmﬁmaﬂwm#mﬁ:a»"arwl’r
TS AT § 3R T F WY YoH AH F Q- g JFeR) e FIaT W TW YA F 96 I 9g FO A WM, ar
ﬂﬁanﬁtﬁaﬁmaﬁwf@ﬂwﬁwwﬁﬁgmﬁmﬁm#mﬁlma:mmm?ﬁw

mm%ﬁmﬁmﬁﬁwg%lwmmmmﬁ ar gaen @ 3 gere AR
3GYFA IR FT TgHT A & AT JeT FT IR qABA:

- afFa # ‘qEer R wEEds F72@r g §?

1. 9Tel

2. fefer

3. gTaeT

4, §st

Correct Answer :-



‘F FF Afgell & T HT ¥ Fag 9 N F@AR 2@ @ mﬁ?mfrmmﬁgﬁ,‘maﬁrm:ﬁm
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YA-Fur oy sifa feamg | 9fFr 9g St @t arg 0
T o T 99T, HF 7 dleg oW A ?
S IE 9& FEAT g€ Hat g3 A |l

39T YGIIT Y YGH AR YT AT ToA FT 3R TR

woel- YEqd 9fFaal F AR ora F T FE @lg gwar ¢ AR FaT FE T wFar 2
1. P fora o A

2. AJST-HAST &l

3. AT a3 Pl

4. IEJ AIST Pl

Correct Answer :-

- PI5 ford o

30) # ofy 3y dfdaee g3 | FoT F e Rp Ak A wEma
dlgg aa St O IWET | F § ALY F g€ A

a RS, A T Hieer | o Rww, g gefafy e i
IE I A5 99 q@aT | & 7% SO H @A amar 20
AR Ig gfaar-aur | §far @3 7 oy fa qur

T g WS AT | AT IemSET Feorar

Y-FUT TRy e faRE | g dg St @ I
arsamim,rsashawagm? e

ST g 92 FErl goE Hal gz & |

39YFd YGIRT Y YGHT A YT AT TRA FT 3o T
Ted- HE F HTAR 399 F 59 3 Fr gHgmAT?
1. gt &

2. Hedll Al

3. OISt ahl

4. ufvsql &

Correct Answer :-

« Ufosdr @l



Topic:- Social Science (SSC)

1) What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 ¥ YRd ot Eﬂ@?ﬁ (gdd
T wgw) ¥ w1 1 92

1.130

2. 124

3. 112

4. 148

Correct Answer :-
e 112

2) Which of the following country is in the third stage of Demographic transition model? / fAufifEaa & @ #i9 an
A TGRS TehHUr Afsd & oI R d 32

1. Kenya / &edl

2. Bangladesh / diaermeer
3. Peru / U®

4. Canada / @St
Correct Answer :-

e Canada / a3

3) Which among the following is the driest desert on Earth? / fafef@a & @ 19 91 gt R 9ad o IR 82
1. Kalahari / ?ﬁraTirrfr

2. Tabernas Desert / TORATE IREdT

3. Atacama / 3TCThTHT

4. Gobi / &t

Correct Answer :-

o Atacama / 3TCThIHAT



Match the inscriptions with rulers

1. Mandasor Pillar inscription | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C.Pravar Sena 11
4 Chamak Copper plate D Kumargupta [

/| et & T fEemeE & TR &1

1. AGHR Tast Rreme@ | A, =% aed

2. FEIeT T femew | B. @ I

3. T Tae1 fAeeE | C. "ay dar 10

4. IAHEF FIR T D. FARC TAH

1. 1-A, 2-B, 3-C, 4-D
2.1-D, 2-A, 3-B, 4-C
3. 1-D, 2-B, 3-A, 4-C
4.1-D, 2-C, 3-B, 4-A
Correct Answer :-

» 1-D, 2-A, 3-B, 4-C

5) FIIs stands for .| THIATEITS HT ‘IUf FTO__ ORI

1. Foreign Institutional Investors / BRA §EC) Il 8d el

2. Foreign Income Investments / ik ScichdH $rCN-Cd-i [

3. Foreign Investors Income / ik er+C{:I SclhdH
4. Foreign Investment Index / BR 3:-—3 e 3@"'-!-'\’:1'

Correct Answer :-

» Foreign Institutional Investors / BRA é(—c‘\l eTel $od red

6) The most appropriate criterion that determines the selection of a teaching method is: / Ty JUYd A Eli
TS Rrevr ugfa & =  Fuifya s @:

1. The nature of the subject matter / ﬁrutr—aﬁ &1 Upia
2. The classroom environment / h&TT <Al dTATAIU
3. The availability of resources / HIATUAT I ST

4. The incompetence of the teacher / RI& T &



Correct Answer :-
« The nature of the subject matter / TII-a&F HT UPpfc

7) The vesara style in the building of structural temples was developed by: / G3gaTcHA® #AfE F
faafor & duv A e garT Refa @ a8 o

1. Pallavas / Ueeld
2. Chalukyas / dTe]d

3. Guptas / T

4. Mauryas / ot

Correct Answer :-

« Chalukyas / ATl

8) Development is a and nonstop process at all periods and stages of human life. / T
AT Sfae & @l @ 3R Wi F T 3t Atreer gfkar g
1. uniform / ThGHTA

2. important / EFI%FCIT{U‘I

3. general / THATT

4. continuous / Hdd

Correct Answer :-

« continuous / Gdd

9) Students are split into small groups for a specific period of time and are made to discuss a given issue or

topic. This method is known as: / ST &Y ¥ fafdrse gay 3afar & Qv s '\‘I'H@ # Ranfaa fFar
Jrar § R RA 7 A a1 Ry W RFER-Ree s Jwer § 9w gquf Fgardr

1. Brainstorming / W (sTaEeifIaT)
2. Buzz session / ?'lx_rl?f T (951 |AA)
3. Symposium / R

4. Debate / dTg-fadrg

Correct Answer :-

o Buzz session / ?'lGlFf g (I JAA)

10) Panini was the author of / ITOIf A&7 & d@® &



1. Ashtadhyayi / 3TETEITAY
2. Mahabhasya / #AGIHTST

3. Daskumara Charita / CADAR IRd

4. Mrichhkatika / =& i EEFEF[

Correct Answer :-

« Ashtadhyayi / 3TET&ITT

11) In projective techniques of personality assessment, behaviour is evaluated. / SafFdea Thdd
#r gardr aaEetat A SAAFR & Hedishe AT AT g

1. criminal / 3TORTEY
2. conscious / @I
3. overt / Uhe

4. covert / 3Uhc

Correct Answer :-
o covert / 3T

12) When was Sikkim created as a full-fledged state of Union of India? / Rf@&#& &1 s g & '-'I';Ui'
AT & oAl Fa AT 4w 4r?

1. 1985
2. 1975
3.1970

4. 1980

Correct Answer :-

« 1975

13) At which point of discussion, does social science differ from pure science? / TaT & R ﬁ?_,: 9T,
o faamer Ry fam & @ gar @

1. Degree of complexity / STTCeldl T HATAT

2. Repetition and duplication / HHTI?{% 3R ETF{%

3. Validity and reliability / d4dar 3R faaaegdr

4. Exactness of measures for prediction / C[C{F-F?al?r & forw surdt/Amr ér qﬁ"{l@?ﬂ




Correct Answer :-

« Exactness of measures for prediction / qdehdel & forw Surdl/ATAr & Cl'ﬁ"\’!aal

14) Aryabhatta and Varahamihira belonged to which age? / 3Tderee 3R mEfART Fw g @ w&fta
s g

1. Kusana / PUTOT

2. Harsha / %‘ﬁ'

3. Gupta / 9]t
4. Maurya / FHar

Correct Answer :-

« Gupta / 9Cd

15) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th century? / SEﬁ
raredl # R AR AESF o A1 de (Red)) & fFadg agy i TA=T i 42

1. Anangpal / 37<T9TdTel

2. Lakhan Pal / eT@< UTel
3. Tejpal / deTuTel

4. Madan Pal / #Ac UTel

Correct Answer :-

« Anangpal / 39TUTe

16) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? / 958 & 1003 $Wdl d&% WK
&1 afFaereh aAfger araw Fir o2

1. Kauravaki / idehr
2. Prabhawati / HTaAT
3. Didda / fe&T

4. Rudrama / g HAT

Correct Answer :-

. Didda / fe=T

17) Who coined the term Action Research? / TaelsT RI™ (haTcA® Q) ersg &Y 9T fFder #i?



1. Stephen M. Corey / Il TH. I
2. Bruce Cooper / [ QU

3. Talcott Parsons / éT*IT‘—I'ﬂ'c}_C "

4. Kets de Vries / m g a1

Correct Answer :-

« Stephen M. Corey / TEIthel TH. DRI

18) Who coined the word ecology (Okologie)? / ‘TIRTEUAAY (NFraTel) oreg FT1 AR fhasr frar?
1. Robert Whittaker / e fegeat

2. Ernst Haeckel / Te&E gahol

3. Charles Darwin / dTed 31fda

4. Arthur Tansley / 3MR ¢eael

Correct Answer :-

« Ernst Haeckel / TeEC gahol

19) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine) in Gupta
period? / S FTer H 3rserar woare (RfFcar #ir s @t #1 arwen) & dws siT §2

1. Vagbhata / dTdHCC

2. Bhratahari / HJERX

3. Charaka / 9

4. Susruta / gHd

Correct Answer :-

 Vagbhata / dTITHCC

20) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early medieval times?

| IRTFE FegsTd 7 'a@ FEr (A3 AR F aran) # 3w FE & a1 e
1. Balban / el

2. Razia / IFS1am

3. Qutub-uddin Aibak / HIgRIT Tah

4. Firoz Tughlaq / TohIST JdTelh

Correct Answer :-



« Qutub-uddin Aibak / PIgLIT Veleh

21) Between whom was the Battle of Dharmat fought? / 98d &1 g e i S L
1. Aurangzeb and Dara Shikoh / 391 3R gRT RI*ie
2. Babur and Ibrahim Lodhi / ITeR 31X ssmfesr aelt

3. Akbar and Jahangir / 37@eR 3R SR

4, Akbar and Rajputs / 3R 3R <Io1k;Ld\i

Correct Answer :-

« Aurangzeb and Dara Shikoh / 3iRereig 3R gRT RIepre

22) MOOCs stands for: / TH.3T.3T.H &1 aead T

1. Massive Open Online Courses / ARG 3 TS PRI

2. Massive Open Orientation Courses / HfId 30 TRTACAA PRI
3. Massive Online Open Courses / AT AeEa U PRI

4. Mobile Open Online Courses / RISl 31U HTTclSad P

Correct Answer :-

« Massive Open Online Courses / #Afa 3 m PIRAST

23) amendment added a list of Fundamental Duties to the Constitution. / e "faur &
Aifesw Feeat o v A SEar B

1. 420 7 40a7
2. 39t / 30ar
3. 471/ a7ar
4, 44t / aqqr

Correct Answer :-

o 420d / a0ar

24) Erosion by solution is termed as: / e« g@RT 3G FT Fgr T &
1. Evorsion / Jesiarad

2. Cavitation / J[fgeprad



3. Abrasion / 37qEr§or
4, Corrosion / TeIROT

Correct Answer :-

o Abrasion / 3gedor

25) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first Ramsar site in
India? / (AR ¥4« § &7 § Rieg ameefd & Ao @xféra fram Smem 81 oRa & ggen IR T Sl @
s

1. Loktak Lake / ollehdrep el
2. Chilka Lake / et sfrar

3. Vembanad Kol / Q&TS el
4. Kolleru Lake / I 3

Correct Answer :-

« Kolleru Lake / ®Ia® i

26) The curriculum principle that allows necessary changes in its content and methods as per the changing
needs and situations is .| XET 9ISTHA ﬁ?{}ﬂ?l’ §, S Sgadr 3margFant 3R
aRfEufaa: & IHqaR Ivelt Ryg-avg 3k gqufeat # smavas wRads amr 8

1. Principle of integration / TdhlehoT &l FigTa
2. Principle of flexibility / oeordel &1 fgia
3. Principle of motivation / JTHUROT &1 &gl
4. Forward looking principle / 3T &1 fRgia

Correct Answer :-

« Principle of flexibility / oldTelual &I fgid

27) The teacher’s mental and emotional visualization of classroom activities is: / F&TT ﬂﬁng‘i%m’r &
it i AARF AR sETCAS Fouar gl

1. Year plan / quTT et
2. Lesson plan / UT& JYSTAT
3. Unit plan / ?ﬂé pIcC
4. Resource plan / THTUA rofell

Correct Answer :-



+ Lessonplan / OIS STl

28) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of evolving
methodology for planning. / 9. W.UF. AT T F HeFeTaT are wiATY (1984) F
fraesr & fav geufe sl = F1 Fear diar mm

1. District Level / foTelT T
2. Village Level / IATH TR
3. State Level / T a4

4. Block Level / selfep T

Correct Answer :-

« District Level / forelT T

29) Which Act drastically redrew the boundaries of states and territories in India, organizing them along
linguistic lines. / fF8 3AATH F siRa & T=AY 3T &= Y @A N FH 55 99 FA W GATIAHR
37 ATYIE YW@ F WY syareyd fRaAr

1. States Reorganization Act, 1956 / Is9 GAifa AfAFTH, 1956
2. States Reordering Act, 1959 / 5T G:3Ieh 0T Sf&TIH, 1959
3. States Reordering Act, 1963 / 58 GH:3fIhHUT {ATH, 1963
4. States Redrawing Act, 1957 / Iod G¢@H AfIfTH, 1957

Correct Answer :-

« States Reorganization Act, 1956 / Id TATa AfATH, 1956

30) Which among the following is not a criterion for writing Instructional Objective? / fAFfaf@da 79
Fa1 fAdareAs 35527 foEa & Qv :§ AFEs 78 872

1. Specification of the learner / remeff &r fafafear

2. The nature of the school environment / fITerI & EFI'I???(‘»T & 9751?
3. The learner performance / fr&mreft ar e

4. Adequacy of instructional objectives / TAGRMcHA® 3T T TATTAT

Correct Answer :-

« The nature of the school environment / fadTerd & ARl & Upfa

31) Which among the following models of teaching belongs to Social Interaction Family? / f#ifaf@d )
¥ Rreror &1 Fla @1 yfawe FEfew da: BT TRaR ¥ w@9ftT @2



1. Inquiry Training Model / J&dIs FIRSEICEIC]

2. Non-directive Teaching Model / 3facira fretor ufdam=
3. Advance Organizer Model / 3ifJd 3maisis ufdaAa

4. Partnership Learning Model / &3 {9t gfdaa

Correct Answer :-

« Partnership Learning Model / 13T Q91T gfdar

32) Which battle was fought between Ahmad Shah Abdali and the Marathas in 1761? / 1761 § 3gHE T8
3reerell AR #TSl & dra Fle-aT Feu gamw A

1. Battle of Tarrain / dAXT$e &I g

2. Battle of Khanwa / @TIdT &l g

3. Battle of Buxur / R8T &I Jg

4. Third Battle of Panipat / GTellud &I g gg

Correct Answer :-

« Third Battle of Panipat / UTellUdl &l 1T Jg§

33) Which Jaina Saint is credited with introducing Jainism in South India? / f&I9T R & T eof Y
YOI A F1 AT B S da : Fraw 2

1. None of the above / 3Udch H & PIS el

2. Sthulabhadra / YT

3. Indrabhuti / 5‘;‘(%
4. Bhadrabahu / 34'9‘\31%’

Correct Answer :-

« Bhadrabahu / 34?@!1@'

34) Where was the First Jain Council held by Sthulabahu? / ¥Y#aTg gaRT Y& S aRwg Fel gené 1§
o2

1. Kasi / &prefr
2. Vaishali / el

3. Vallabhi / Tootdfl

4, Pataliputra / CI'IET*TI'Q?



Correct Answer :-

« Pataliputra / U'IEFﬁ'g_af

35) How can a social science teacher infuse affective outcomes among students? / AT R e
orl # FHERIcAS IRUMAT F @ genfaa T Gehar 82

1. Keeping the students intact through lecture method / TITEATA UgTd & HAICIH & ©THl dl H{dha @
hI

2. Adopting collaborative learning inside and outside the class room / & & 3ieI 3R T H’I?jj?-?-ﬁ
AITH P 3TATRY

3. Through story telling method on freedom fighters of social eminence / TTHITGIh ABAT dTel TIAAAT
AT U PAT a9l UgTd b ATEIH

4. Through the teaching of wars and conflicts through ages / ?IJ'IT a ?g?s:f 3R Taut & fRAeTor & AT I

Correct Answer :-

« Adopting collaborative learning inside and outside the class room / @& & 37eX IR I H’I’ﬂj?-?-ﬁ
HTAITH P 3TATRY

36) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of India shall act in

aidoftheSupremeCourt?/ﬁﬁWﬂ?mmﬁmw%ﬁ?W*mﬁmm,
aeieE 3 =, gafear e f wear & FF FEr

1. 141
2. 134
3. 144

4.114

Correct Answer :-
o 144

37) Which was the political party formed under the leadership of Kanshi Ram? / FIeRTT & FTF[E’ # i @t
TSt el afsd g§ o

1. Communist Party of India / HRciIT hagfee aref
2. Samajwadi Party / GHTSTATEY T

3. Rashtriya Janata Dal / Tl'iﬁ'q SIAdl gl

4. Bahujan Samaj Party / Igsled HaATS aref

Correct Answer :-

* Bahujan Samaj Party / It HHATST aref



38) NABARD stands for ./ ATETE HT Tﬂ' & gl

1. National Bank for Agriculture and Rural Development / I8 ?ﬂﬁ' 3R arefior e d@

2. National Bank for Agriculture Reconstruction Development / ITEII ?{?ﬁf gaﬁmﬁm faemra da
3. National Board of Agronomy and Rural Development / I8 gEafaaa 3R g e ars

4. National Board of Agriculture and Rural Development / I8/ ¥ Td 0T Aepra ars

Correct Answer :-

« National Bank for Agriculture and Rural Development / ITEIT %ﬁf 3R gmT e I

39) stated that ‘social sciences carry a responsibility of creating a strong sense of human values, namely,
freedom, trust, mutual respect, and generating in students a critical, moral and mental energy, making them alert to

the social forces that threaten these values’. / # AT ST % & grnfas @AaAe Aed H“d‘r 3TQﬁT-|'
Wﬁ?ﬂ,ﬁ@hmaﬁmmﬂamsﬁrmaﬁww,maﬁwmm
der FX F Al Asmar §, S 3¢ 91 AeAl H ay H s el @EAToE AiFadl & e gad Fwar
K

1. National Curriculum Framework NCF (2005) / TEIT UreIadT I FAXE@T TAHITH (2005)
2. Commission on School Education / Efel Y& 3T
3. Education Commission 1964-66 / f1&TT 3T 1964-66

4. The Curriculum for Ten Year School / &8 HTel & ¥Rl & ToIT UTSAhA

Correct Answer :-

« National Curriculum Framework NCF (2005) / TI'QTJ CI'I'o?Ilﬂ'q;f P FTRET TAGITE (2005)

40) is a type of unemployment wherein the workers are searching for new jobs and for a temporary
period they will be unemployed. / TF JHR $HT RSN § Twd w78 AteRar v qarer
FT W@ § 3R v el el & AT 3§ RS W@

1. Frictional unemployment / €Tl RIS
2. Seasonal unemployment / HTHARI® ARSI

3. Structural unemployment / SRAATHD RIS

4. Disguised unemployment / Uw3d SRIGATR

Correct Answer :-

« Frictional unemployment / 3EJTAT SRS

41) is a process that involves the assembling, storage, transportation, packaging and distribution of
different agricultural commodities across the country. / T 9iHar ¢ o 3o s A e agﬁ aﬁgaﬁ &

AT, 3RO, IRaee, S e 3 faawor anfaer g &1



1. Agricultural marketing / Efﬁ' faqorey

2. Rural development / TTHIOT faemrar
3. Agricultural networking / WW
4. Rural marketing / JTHIOT faUUH

Correct Answer :-

« Agricultural marketing / $f¥ fauore

42) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? / R IR &
e #ae F Fdae e e FaRER FiT 82

1. Raghuram Rajan / YYRTH S
2. Kaushik Basu /?ﬁ% ag

3. Krishnamurthy Subramanian / FSOTHfA GIHTIA
4. Arvind Subramanian / 31X fie gIAvIA

Correct Answer :-

« Krishnamurthy Subramanian / HSUTafd GerHAvaH

43) Who is the present Governor of Reserve Bank of India? / iR Red dF & adwa et sia &
1. Urjit Patel /33T uea

2. Duvvuri Subbarao / W JeaRTd

3. Raghuram Rajan / TEIH STl

4, Shaktikanta Das / 2ITthepid &1

Correct Answer :-

o Shaktikanta Das / QIfthebid SIe

44) Who first adopted Micro teaching techniques? / &#H RAaToT AFAIPI F FAYYH FEA AqAET?
1. Dwight. W. Allen / 3aT3C 3eog, Teld

2. Dwight Waldo / ZaT$c dTes!

3. Michael Brown / HATSchel sITS<T

4. Stanley John / T&AGH SHiet

Correct Answer :-

+ Dwight. W. Allen / 3d1€ 3oy, Teld



45) Who is nicknamed as the ‘Milkman of India’? / '"HRd & 7Y %W’ T 3YATH R e I @2
1. Swaminathan / TITHATIA

2. Sambasivan / GFTRAATA

3. Verghese Kurien / gafter W

4. Hiralal Chaudhari / @RTelTe dterdy

Correct Answer :-

» Verghese Kurien / gaftst W

46) The concept of five year plans in India was adopted from which country? / ARd # gaadta et i
FTYROT FH U F I9aA1S 715 o4

1. China / &1

2. England / 3703

3. Soviet Union / @Yfaad @9

4. USA / € T AR

Correct Answer :-

« Soviet Union / @Yfaad 99

47) AMUL stands for ./ S (TCAGUA) FT QT FT B
1. Anand Milk Undertaking Limited / 37, e 3183t fafdes

2. Ahmedabad Milk Union Limited / 3fecrarg et Jiager fafdes

3. Ahmedabad Milk Undertaking Limited / 3igderane [Fed 3icihar fafdes
4. Anand Milk Union Limited / 3{1g ffes ?Iﬁ'q:l faftrcs

Correct Answer :-

« Anand Milk Union Limited / 3¢ e qﬁ?ﬂ faftres

48) is an apex Indian governmental body created in 1964 to address governmental corruption.

/ TP Hald HRATT IRPR] AP & St WP YETEIR BT Tal oA & 1T 1964 F F1 11|
1. Commission Against Corruption / ¥R & [&T® 37T

2. Central Bureau of Investigation / heI 3= ooT 0

3. Anti-Corruption Bureau / HETAIR el <

4. Central Vigilance Commission / g FIdhdT 3TN

Correct Answer :-



« Central Vigilance Commission / e FAhdT 3TN

49) is the highest court for criminal cases in a district. / T® fora # TuRTRIG AMHE! & forg
A I YTATTd 6l

1. Court of the Sessions Judge / €3 =TT T AT
2. Court of the District Judge / ToTelT =amardier &1 =ararerd
3. Courts of Magistrates of First Class / 9J# A0 & ATAELE FT =TT

4. Courts of Magistrates of Second Class / fgciia #oft & aAfGEce &1 =amre

Correct Answer :-
« Court of the Sessions Judge / T =ITATHIRA T =ITATTA

50) Which of the following intrinsically motivates a learner to learn? / fAufafad & @ #17 siftrw & forw
T Riandf #t wgw wu A WRa a2

1. Lots of homework / 37T Igard
2. Rewards / QicaTgl

3. Easy questions / 8¢l HdTel

4. Interest in the topic / fJauT & 3fr

Correct Answer :-

« Interest in the topic / fawar & By

51) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United Nations (UN)? /

Y Y (YE) TR 5HS Safe 3 oirigia sifgan fawr & wu & wamar wmar 32
1. Martin Luther King / TTféT TR fa

2. Mahatma Gandhi / FETET et

3. Jawaharlal Nehru / SaTeR dlel g

4. Nelson Mandela /eIFﬂT-T Haan

Correct Answer :-

« Mahatma Gandhi / AgTET el

52) The approach of organizing curriculum which is more content centered is known as: / UT&dshH Cal

HARUT B BT VDI, 5 rfpizre: fovg-avg $ZA 8, S/ HeT TdT 2
1. Concentric approach / Tchigd TIEePIOT
2. Topical approach / HTHARI® TTRPIOT




3. Unit approach / s_d?lé EHECa)
4. Spiral approach / aftder gi¥®oT

Correct Answer :-

o Unit approach / SHIS TR0

53) Annie Besant was a member of ./ T Se @t Teg A1
1. Ghadar Party /TIETtITch

2. Prarthana Samaj /EIT%&!THTHGT

3. Arya Samaj / 3 99T
4. Theosophical Society / R hdmd ARISc!

Correct Answer :-

« Theosophical Society / g fthera TRISeT

54) Who plays the main role of Guidance Services in School? / faenea ¥ urfexi= Jarsi @ g@r YfreT
P4 T 82

1. Parent/ #TAT-TAar
2. Social Studies Teacher / GTATTSG JEIIA TA&TH
3. Principal / ey

4, Counselor / GTHALASTAT

Correct Answer :-

o Counselor / WQ??{I?IT

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as which of the
following wind. / “f@d =ifew QR ®IEw)” faol MNared & gaa arel gaa # @ 7 a7 § & [A=afaf@a
# A P g & T @ IR S @2

1. Westerlies / U3 Uded
2. Trade Wind / <R udel (2’:’5" =)
3. Easterlies / qdfa gad

4. Monsoon Wind / HATTHA Uded

Correct Answer :-

o Westerlies / U3 Uded



56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern nations? / ®T

AT FABE Whew F Arafaf@ad & ¥ frw smyfas sg F1 weyas AT S 32
1. New Zealand / =gghels

2. Cyprus / O159H

3. Vatican City / dfeea e

4. Singapore / fHIMYT

Correct Answer :-

« Singapore / W

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? / Tshdld IT
AP, ACT X@T F F9s7ar 50 N 3R s & iR Rspfaa @ e & F=ife

1. Ocean surface temperature is high / Hdg Pr Tag &1 duA 3fAF AT B
2. Trade winds converge / AT gdad T 3R %)I?ﬁ %I

3. Pressure gradient is weak / 9 JdUTT ®dASIR &l &l

4, Coriolis force is very weak / PIiforg gaa ElET-T IS @HT %I

Correct Answer :-

 Coriolis force is very Weak/EﬁvliiEHﬁ?? UHATT Elg?f hHAGIR %)IHT %I

58) Which of the following rivers does not flow into the Arabian Sea? / RFafaf@a #A F &l & a8
INT PR H AgE Fgdr &2

1. Tungabhadra / QTJTS:I?J\T
2. Narmada / eI

3. Mandovi / #TOSAT

4. Sabarmati / HTERHAIN

Correct Answer :-

o Tungabhadra / @'JTHE\'T

59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in February 2011. It
is a part of which among the following ports? / Badl 2011 H YHRFN AT AT FearveH effea,
Feay dararor (Sra-Rrgde) girer 31 9 faf@a ode & @ fraer & R @

1. Cochin Port / P deIaTTe

2. Visakhapatnam Port / ﬁf‘\’ﬂ'@m LTS



3. None ofabove/?q?i_rﬁ H q s @l
4. Chennai Port / fln‘-lé deTIE

Correct Answer :-

« Cochin Port / P EIEUII%

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of tree-rings. In a
tree from which of the following zones, the analyzing the circles would be most easy? / J&T-de1 (& Ran &
Yoot & AV & IR W gErHFTangw e sféer w1 dmfaw adwr 8 efafla & @ B o
¥ UF g&T A, JAd FT FRAYT FAT FIH AT e

1. Temperate Zones / fIATSOT wfedy (CFme i)
2. Taiga / &aT
3. Tropical Rain Forests / S0TehfcaddIT aul aef

4, Polar Tundra / %?ﬁ?I §§T
Correct Answer :-

o Temperate Zones / fraisor ey (G JiA)



